
 

1. (1) kpff; Fiwe;j Neu;NfhLffshy; Md %ba jsTU vg;ngau; nfhz;L miof;fg;gLk;? 

  ……………………………………………………………………………………………….. 

 (2) mjpy; fhzg;gLk; cWg;Gf;fs; ahJ? …………………………………………………… 

 (3) fPOs;s jsTUf;fis tiue;J fhl;Lf. 

  (a) ,izfuk;  (b) ruptfk;  (c) Kf;Nfhzp   

   

 

 

 

 

 

2. gpd;tUk; vz;Nrhbapy; ngupa vz;izj; njupT nra;J NfhbLf.  

 (1)  0.08> 0.80   (2) 0.15> 0.05  (3) 2.54> 2.45  

 RUf;Ff. (4) 3.56 + 5.21 = …………………… (5) 10.08 ……… 4.5 = …………….. 

 

3. 1 njhlf;fk; 20 tiuAs;s vz;fisf; nfhz;L gpd;tUk; vz;fis ,dq;fz;L vOJf.  

 (1) xw;iw vz;fs;:-  …………………………………………… 

 (2) ,ul;il vz;fs;:- …………………………………………… 

 (3) Kjd;ik vz;fs;:- …………………………………………… 

 (4) Nru;j;jp vz;fs;:- …………………………………………… 

 (5) rJu vz;fs;:-  …………………………………………… 

 

4. ml;ltiziag; G+uzg;gLj;Jf. 

 (1)       (2)   

   

 

    

   

cm m        cm m 

 250  2    50  
______ 

 

______ 

 
 4    15 ______ 

_______ 

 
 ___   ___ 10.75 

ml l        ml l 

1500  1    500  
______ 

 

______ 

 
 __  ____ 10.5 

_______ 

 
 12      250 ______ 



5. (1) cUtpd; Rw;wsT ahJ? ………………………………………….. 

 

 

 

 

 

 

 

 (2) ,t;TUtpd; Kfq;fspd; vz;zpf;if: ………………………. 

 (3) cr;rpfspd; vz;zpf;if: ……………………………………. 

 

 (4) tpspk;Gfspd; vz;zpf;if: ………………………………….. 

 

 


